Further Trigonometry

Homework 12

1.  Sketch the graph of the function 
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2.  If 
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3.  (a)Write 
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     (b) Hence solve the equation 
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           for 
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4.  The diagram shows the cross-section of an adjustable ramp which is made from     

     two right-angled triangles, PQR and RQS.  Angle RQS = ao and PQR = bo  .

     Find the exact value of sin(a+b)o.
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5.  (a) Given that (-1,0) is a point of intersection of the curve
[image: image9.wmf]1

3

3

2

3

+

+

+

=

x

x

x

y


          on the x-axis. Find the other points of intersection on this axis.

     (b) State the point of intersection on the y-axis.

     (c) Find the coordinates of the stationary point(s) and justify the(ir) nature.

     (d) Sketch the graph of the function.
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